Fijian Competition and Consumer Commission Bill of Quantities (BoQ)

The BoQ below lists all the hardware items/ material that is subjected to regulation under the Hardware

Price Control Order.

»

FIJIAN
COMPETITION &
CONSUMER
COMMISSION

CLADDING & BOARDS

PLUMBING

1 | 4.5mm Masonite Board 157 | PVC Pressure Pipe 15mm 5.6Mtr Imp
2 | 4mm Masonite Board 158 | PVC Pressure Pipe 20mm 5.6Mtr Imp
3 | 3mm Masonite Board 159 | PVC Pressure Pipe 25mm 5.6Mtr IMP
4 | 4.5mm Cement Board 160 | PVC Pressure Pipe 40mm 5.6Mtr IMP
5 | 6mm Cement Board 161 | PVC Pressure Pipe 50mm 5.6Mtr IM
CONCRETE BLOCKS 162 | PVC Vent Cowl 50mm WST
6 | Bond Beam 400mm x 200mm x 100mm 163 | PVC Vent Cowl 100mm Waste
7 | Bond Beam 400mm x 200mm x 150mm 164 | PVC Gully Trap 100mm WST
8 | Bond Beam 400mm x 200mm x 200mm 165 | PVC Boss On Trap 100X50mm WST
9 | Standard Whole 400mm x 200mm x 100mm 166 | PVC P Trap 40mm Waste
10 | Standard Whole 400mm x 200mm x 150mm 167 | PVCS & P Trap 40x32 waste
11 | Standard Whole 400mm x 200mm x 200mm 168 | PVCS & P Trap 50mm Waste
12 | Cementstik 1ltr 169 | PVCS & P Trap 40mm Waste
13 | Cementstik 750ml 170 | PVC Soil Pipe 150mm x 5.6Mtr
ELECTRICAL PRODUCTS 171 | PVC Waste Pipe 32mm Imp
14 | 2' W/Proof Tubelight Frame 172 | PVC Waste Pipe 40mm Imp
15 | Tube Light Fitting Frames 2ft 173 | PVC Waste Pipe 50mm Imp
16 | Tube Light Fitting Frames 4ft 174 | PVC Waste Pipe 100mm Imp
17 | Zelmite Boards 175 | PVC Stormcloud Gutter 2.9Mtr MS1.
18 | Meter Box Galv 14x12 Single 176 | PVC Gutter Bracket MS2
19 | Meter Box Galv 18x20 Double 177 | PVC Gutter Joiner MS5
20 | Meter Box Galv 24x24 Single 178 | PVC Gutter Stop End LH MS3
21 | Neutral Link 5 Hole (HEM) Black 179 | PVC Gutter Stop End RH MS4
22 | One Gang Switch W/Light 180 | PVC Plain Rain Head MS8.80
23 | Two Gang Switch 181 | PVC Gutter External Angle MS6
24 | Three Gang Switch 182 | PVC Gutter Internal Angle MS7
25 | GPO W/One Light Switch 183 | PVC Downpipe Bend RB2.80X95Deg
26 | Mounting Block 184 | PVC Downpipe Bend RB3.80X112DG
27 | Junction Box 185 | PVC Downpipe Junction RJ80
28 | Main Entry Box 2 Terminal 186 | PVC Downpipe Clip RC80 80MM
29 | 35 Amps Single Pole Main Switch 187 | PVC Downpipe Socket RS80 8OMM
30 | Din Main Switch 40 amps 188 | PVC Down Pipe 80mm White
31 | Battern Holder 189 | PVC Down Pipe 80mm White 5.6Mtr |
32 | 10 amps ELCB with base 190 | Brass Bib Cock 15mm
33 | 16 amps ELCB with base 191 | Brass Stop Cock 15mm
34 | Earth Clip 16mm 192 | Brass Hose Cock 15mm
35 | Earth Rod 4.5'X16mm 193 | Brass Bib Tap 15mm




36 | 770/1WE STD One Gang Switch 10A 194 | Brass Stopcock 15mm

37 | 770/2WE STD Two Gang Switch 10A 195 | Brass Hosetap 15mm

38 | 770/3 STD Three Gang Switch 196 | Brass Gate Valve 15mm

39 | 787WE10Amps Single Powerpoint 197 | Toilet Seat Black

40 | Single GPO W/One Light Switch 787XWE 1 198 | Toilet Pan White P-Trap

41 | Single GPO W/Two Light Switch 7872X 10 199 | Toilet Pan White S-Trap

42 | 787/15WE/PDL 15Amps Single G.P.O 200 | S/S S/Bowl 4' Sink + Grati

43 | P.D.L Single Gang Switch 20mps 201 | S/S D/Bowl 6' Sink + Grati

44 | WS170/15 15Amps/10AMPS W/P Switch 202 | Toilet Cistern

45 | B135 35Amps HPM Main Switch S/P PLYWOOD

46 | B165 65A Single Pole main switch 203 | Interior Plywood 2100 X 900 X 3mm

47 | ELCB 16 amps HPM HE6ELM30-216MCBRCD 204 | Interior Plywood 2100 X 900 X 4mm

48 | 366WE HPM Battern Holder 205 | Interior Plywood 2400 X 1200 X 3mm

49 | Plain To Screwed Adaptor 25mm with Loc 206 | Interior Plywood 2400 X 1200 X 4mm

50 | Plain Coupling 20mm 207 | Interior Plywood 2400 X 1200 X 6mm

51 | Plain coupling 25mm 208 | Interior Plywood 2400 X 1200 X 9mm

52 | Conduit Bends 20mm 209 | Interior Plywood 2400 X 1200 X 12mm

53 | Conduit Bends 25mm 210 | Exterior Plywood 2100 X 900 X 3mm

54 | Conduit Bends 32mm 211 | Exterior Plywood 2100 X 900 X 4mm

55 | Conduit Bends 40mm 212 | Exterior Plywood 2400 X 1200 X 3mm

56 | Conduit Bends 50mm 213 | Exterior Plywood 2400 X 1200 X 4mm

57 | M/C BREAKER 10 AMPS 214 | Exterior Plywood 2400 X 1200 X 6mm

58 | M/C BREAKER 16 AMPS 215 | Exterior Plywood 2400 X 1200 X 9mm

59 | DC141 2.5mm PVC Single Black Coil=100m 216 | Exterior Plywood 2400 X 1200 X 12mm

60 | DC161 6mm PVC Single Black Coil=100Mtr ROOFING

61 | DC309 1mm TPS Light Wire Coil =100 m 217 | Roofing Iron Zincalume (26Gauge) per Feet
62 | DC329 1.5mm Twin + Earth -STD 218 | Ridge Cap Z/A 6'x 26G

63 | DC339 2.5mm TPS P/Point Wire Coil 219 | Flashing Z/A 6'x 26G

64 | DC209 1mm TPS Switch Wire R/W Coil 220 | Roofing Iron Galvanised (26Gauge) per Feet
65 | DC229 1.5mm Twin TPS 221 | Ridge Cap Galv 6'

66 | DC249 2.5mm TPS Festoon Wire Coil=100m 222 | Flashing Galv 6'

67 | DC349 2.5mm Twin + Earth - STD 223 | Single Sided Sesalation/Insulation (Aluminium)
68 | DC923 0.75mm 3 Core Grey Flex Coil=100 224 | Double sided Insulation/Sesalation (Aluminium)
69 | DC811 6mm Twin H/D Main Wire Coil=500m TIMBER

70 | PVC Conduit Pipe Grey 16mm 225 | Rough H3 Treated Pine 25mm x 25mm

71 | PVC Conduit Pipe Grey 20mm Imp 226 | Rough H3 Treated Pine 50mm x 25mm

72 | PVC Conduit Pipe Grey 25mm Imp 227 | Rough H3 Treated Pine 75mm x 25mm

73 | PVC Conduit Pipe Grey 32mm 228 | Rough H3 Treated Pine 100mm x 25mm

74 | PVC Conduit Pipe Orange 20mm 229 | Rough H3 Treated Pine 200mm x 25mm (8")
75 | PVC Conduit Pipe Orange 25mm 230 | Rough H3 Treated Pine 225mm x 25mm (9")
76 | PVC Conduit Pipe Orange 32mm 231 | Rough H3 Treated Pine 250mm x 25mm (10")
77 | Cable Pin Clip No.1 100'S 232 | Rough H3 Treated Pine 300mmx 25mm(12")




78 | Cable Pin Clip No.2 100'S 233 | Rough H3 Treated Pine 50mm x 50mm
79 | Cable Pin Clip No.3 100'S 234 | Rough H3 Treated Pine 100mm x 50mm
FASTENERS 235 | Rough H3 Treated Pine 150mm x 50mm (6")
80 | Barrel Bolt Brass 50mm w/screws 236 | Rough H3 Treated Pine 200mm x 50mm
81 | Barrel Bolt Brass 75mm w/screws 237 | Rough H3 Treated Pine 250mm x 50mm
82 | L/Duty 4" Z/C Plated Butt Hinges 238 | Rough H3 Treated Pine 300mm x 50mm (12")
83 | L/Duty 150mm Z/P Tee Hinges 239 | Rough H3 Treated Pine 150mm x 75mm (6")
84 | L/Duty 100mm Z/P Tee Hinges 240 | Dress H3 Treated Pine 50mm x 25mm(2")
85 | Tylok Plate 4T10 72X115 L/Lok 241 | Dress H3 Treated Pine 75mm x 25mm(3"')
86 | TYLOK PLATE 8T15 110X235L/LOK 242 | Dress H3 Treated Pine 200mm x 25mm (8"')
87 | Strapping 10Mtr x 1.2mm L/Lok 243 | Dress H3 Treated Pine 225mmx 25mm(9")
88 | Thru Bolt M6.5 X 35 244 | Dress H3 Treated Pine 250mm x 25mm (10")
89 | Thru Bolt M6 X 58 245 | Dress H3 Treated Pine 150mm x 50mm (6")
90 | Thru Bolt M10 X 48 246 | Dress H3 Treated Pine 50mm x 25mm
91 | Thru Bolt M10 X 75mm 247 | Dress H3 Treated Pine 75mm x 25mm (3"'x1")
92 | Thru Bolt M10 X 98mm 248 | Dress H3 Treated Pine 100mm x 25mm
93 | Thru Bolt M12 X 58mm 249 | Dress H3 Treated Pine 150mm x 25mm
94 | Thru Bolt M12 X 75mm 250 | Dress H3 Treated Pine 200mm x 25mm
95 | Thru Bolt M12 X 98mm 251 | Dress Treated Pine 100mm x 50mm
96 | Thru Bolt M12 X 129mm 252 | Dress Treated Pine 200mm x 50mm
97 | Wire Nails11/2" TO 6" 253 | No.2 Rough H3 Treated Pine 75mm x25mm
98 | Wire Nails 40mm X 2.0 J/H Ctn = 25Kg 254 | No.2 Rough H3 Treated Pine 100mmx 25mm
99 | Wire Nails 75mm x 3.75 J/H Ctn =25Kg 255 | No.2 Rough H3 Treated Pine 150mmx 25mm
100 | Wire Nails 100mm x 4.5 J/H Ctn =25Kg 256 | No.2 Rough H3 Treated Pine 200mmx 25mm
101 | Wire Nails 40mm F/H Ctn = 25Kg 257 | No.2 Rough H3 Treated Pine 225mmx 25mm
102 | Wire Nails 75mm F/H Ctn = 25Kg 258 | No.2 Rough H3 Treated Pine 250mmx 25mm
103 | Galvanised Nails 25mm J/H Ctn = 25Kg 259 | No.2 Rough H3 Treated Pine 300mmx 25mm
104 | Galv. Nail 40mm x 2mm J/H Hot Dipped 260 | No.2 Rough H3 Treated Pine 200mmx 50mm
105 | Galv. Nail 50mm x 2.50mm J/H Hot Dipped 261 | No.2 Rough H3 Treated Pine 250mmx 50mm
106 | Galv. Nail 75mm J/H Hot Dipped 262 | No.2 Rough H3 Treated Pine 300mmx 50mm
107 | Galv. Nail 100mm J/H Hot Dipped 263 | No.2 Rough H3 Treated Pine 100mmx 100mm
108 | Galv. Nail 150mm J/H Hot Dipped 264 | No.2 Rough H3 Treated Pine 150mmx 75mm
109 | Galv. Nail 40mm x 2mm J/H Hot Dipped 265 | Treated Pine Post 1.8m x 75mm
110 | Galv. Nail 75mm x 3.75mm J/H HotDipped 266 | Treated Pine Post 1.8m x 125mm
111 | Galv. Nail 200mm x 4.5mm J/H HotDipped 267 | Treated Pine Post 2.4m x 75mm
112 | Galv. Nail 150mm x 5.60mm J/H HotDipped 268 | Treated Pine Post 2.4m x 100mm
113 | Galv Clout Nail 20mmx2.8 Ctn = 25Kg 269 | Treated Pine Post 2.4m x 125mm
114 | Galv Clout Nail 25mmx2.8 Ctn = 25Kg 270 | Treated Pine Post 3m x 75mm
115 | Panel Pin J/H 20mmx1.6 Ctn = 25kg 271 | Treated Pine Post 3m x 100mm
116 | Panel Pin J/H 25mmx1.6 Ctn = 25kg 272 | Treated Pine Post 3m x 125mm
117 | Panel Pin 20mm F/H C/P Ctn = 25Kg 273 | Treated Pine Post 4m x 125mm
118 | Panel Pin 25mm F/H Ctn C/P = 25Kg 274 | Rough Boxing 25 x 25mm




119 | Concrete Nail 25mm Ctn = 20Kg 275 | Rough Boxing 50 x 25mm
120 | Concrete Nail 40mm Ctn = 20Kg 276 | Rough Boxing 75 x 25mm
121 | Concrete Nail 75mm Ctn = 20Kg 277 | Rough Boxing 100 x 25mm
122 | Concrete Nail 100mm Ctn = 20Kg 278 | Rough Boxing 150 x 25mm
123 | Roof Screw 14x65 Type 17 279 | Rough Boxing 200 x 25mm
124 | Night Latch Gold CD1 HLD1000 Select 280 | Rough Boxing 225 x 25mm
125 | Night Latch Lock 616 CH 281 | Rough Boxing 250 x 25mm
126 | Mortise Lock 693SS CH 282 | ROUGH BOXING 300 X 25
127 | Black Binding Wire 1.60mm x 1kg 283 | Rough Boxing 50 x 50mm
128 | Galv/Binding Wire G16 (CHN) Coil= 25K 284 | Rough Boxing 75 x 50mm
129 | Galv Binding Wire 20G x100grms 285 | Rough Boxing 100 x 50mm
130 | PVC Glue 100grms 286 | Rough Boxing 150 x 50mm
131 | 100mm zinc plated pad bolt 287 | Rough Boxing 100 x 100mm
132 | 150mm zinc plated pad bolt 288 | Rough Boxing 300 X 50mm
LOUVER FRAMES 289 | Treated Pine Decking 100mm x 25mm
133 | Louvre Frame (galv) 3 Blade S/C 290 | Treated Pine Decking 75mm x 25mm
134 | Louvre Frame (galv)8 Blade D/C 291 | Treated Pine Flooring 100mm x 25mm (TR
135 | 3 Blade Alumn.L/frame W/Screws 292 | Treated Pine Flooring 100mm x 25mm (GM
136 | 8 Blade Alumn.L/frame W/Screws 293 | Treated Pine Weather Board 150mmx 25mm
137 | Louvre Blade 24x6x5mm Clear 294 | Treated Pine Lining 100mm x 25mm
138 | Louvre Blade 30X6X5mm Clear 295 | Treated Pine Lining 150mm x 25mm
139 | Louvre Blade 36X6X5mm Clear 296 | Pine Shiplap 100mm x 25mm
PAINT 297 | Skirting 75mm x 25mm
140 | Paint Brush Handle 25mm 298 | 1/4 Round
141 | Paint Brush Handle 75mm TOOLS
142 | Paint Brush Handle 100mm 299 | Brick Laying Trowel Type 200mm
143 | Paint Roller Sleeve 9" 300 | Tape Measure 3M Dual Auto Locking
Tubuler Handle Hacksaw Frame 300mm (All
144 | Roller Handle 9" 301 | Types)
145 | Paint Tray 230mm 302 | Claw Hammer Wooden Handle 27mm
146 | Paint Roller Kit 9" Standard 303 | Alumn (yellow) level 24"
147 | Thinner 4L 304 | Trowel Plasterer W/H 280 x 115mmForge
148 | Turpentine 4L 305 | Handsaw Cushion Grip Tri Cut 22"x 10p
149 | WHITE Paint (All Types) 4L 306 | Plastering Trowel Flat 250 x 100mm
150 | WHITE Paint (All Types) 10L 307 | 300mm Comb Square
151 | Off - WHITE Paint (All Types) 10L 308 | Hand Saw 650mm HeavyDuty
152 | Off - WHITE Paint (All Types) 4L 309 | Hacksaw Blade 18TPI
153 | Pink Primer - 4L
154 | Pink Primer - 10L
155 | Undercoat White - 4L

156

Undercoat White - 10L




